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Please make sure that the printed pages in this question paper are 8 in number and
it contains 24 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don'’t leave blank page/ pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Cancdidates must write their Roll No. on the (uention puper. lixeept Roll No, do ney
write anything on question paper and don't make any mark on answers of objective
type guestions,
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Before answering the questions, ensure that you have been supplied the correct und
complete question puper, no claim in this regard, will be entertained after

examination, i i
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All questions are compulsory.
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Marks are indicated against each question.

(iii) NGB FTT HFFOC G AR

Your answer should be according to marks.
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[ Long Answer Type Questlons ]

1. Ry g w b 7 o TRl @ ool iR 4

What is system software ? Explain its types,

CLL|
OR

Rt gge R & v &t

Explain various inputl devices.
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2. @ A A () Rome saeme O ) B g2 @ ge IR Rew w0 3 T
f%ffﬁm 4

Write steps for (i) Paragraph alignment and (ii) Find and replacc a word in a
document.

Y

OR
MS-8 & Rve saadt &1 oty ¢

Explain window components of MS-Word.

3. THW 2010 % o¢ 3 w1 o B 4
Explain types of charts in Excel 2010,

HYq

OR
TR 2010 3 G ot & gl F

Explain formatting options of Excel 2010.
[@g 09 594 |
[ Short Answer Type Questions ]

4, 0F 3%de & U I Faw F I T qH=W L ? 2

How 'row’ and 'column'’ can be inserted in a workshect ?

5. T A F WUT WY AT HOE REW o & o Rifdw 2
Write steps to change font size and font style of a document.
6. @ e @t Bt w3 T fef 2

Write steps to print a document.
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10.
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WS ¢ R/ 87
What is slide show ?
G LE!
OR
I o T ¢ 7
What is outline view ?
T W58 § TR et & @ fofdu
Write steps to add animations in a slide.
ffex & yard W e fofe
Write note on types of printers. |
L]
OR.
Fae 3 gl e Rt
Write note on types of Computer.
FFET F W T8 7
What are advantages of Computer ?
CILE
OR

Rt &y 3 et A9 W e ffew

Write note on any two secondary memory.
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[ Very Short Answer Type Questions ]
11. R Mg w22 . 1
What is print preview ?

12. T5g% % qftmr i 1

Define workbook.

CUCH]
OR
ROM &1 & ?
What is ROM ?
13. gaefe it oitwmn A 1
Define worksheet.
Yqr
OR

e #7127

What is a plotter ?
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15.

16.

17.

18.

19.
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1
TR 7 AW e /e
What is name box in Excel ?

[ TS 79 ]

[ Objective Type Questions ]

T e Rrdt ear w waRf A & (wdl/mera) 1
All active windows are displayed on taskbar. (Truc/Falsc)
VLS! TRANRE FgeX H gl FAEE ¥ SuErT g (qd/mad) 1

VLSI microprocessor were used in 2nd generation of Computer. (Truc/False)

R R— freg @ TUer e 2 1
(A) 16 (B) 24

(C) 32 (D) 64

8 bytes is equal 10 i bits.

(A) 16 (B) 24

(C) 32 (D) 64
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22.
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(7)
AR TF .............. (426 B
(A) &g (B) #NITYe
€) ¥ (D) % T
Projector is a .............. device.
(A) Input (B) Output
(C) Memory (D) None
TG H oo, T A TgE W e
(A) & B) dwd
() T (D) e
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(A) 2nd (B) 3rd
(C) 1st | (D) Sth
NARIA VT B H AEHE B e 2

(A) Ctrl+S (B) Alt+S
(C) Ctrl+P (D) Alt+P

Shortcut key to save a presentation is .............. ;
(A) Ctrl+ S (B) Alt+S

(C) Ctrl+P (D) Alt+P

generation of computer was based on Vacuum tubes.

3120

P T.0.



3120

(8)
23. e T H I TR R Aoz F@ 3 R BB 1
(A) 1 (B) B
C) T | (D) M
.............. icon is used to make text bold.
(A) 1 (B) B
C T - (D) M
24, R d X AN A TR s ¥ i

In Excel, intersection of 'row' and '‘column' is called .............. g
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